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Thm (MMOn=3, LO n34)

M=pWH"CC hyp mold with Fuchsian ends

(1) H(V)-orbit
Fx +RFM,

closures HCU) = x L & REM HIU)

for some LE2
MCU)

(2) U-arbit
Fx = REM,

closures 5 =x L 1 RF+M

for some LE Ir

(3) Equidistributions
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For I =1, 2, 3,

Cilm holds if (i) is true for all

UCN with codim -m

m =0 ( 1) & (3) trivial
(2) minimality of N-action

(2)m+(3)m => (1) m+1
+(2)m +(3)m

=>(1) m+1 + (2)m+1 + (3)m

=>(2)m+1
+(3) m+1

AMK IfYOM)<0, (3)m is not needed
in the induction pf.
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Whatis special aboutCC mflds with

Fuchsian ends?
/

"Recurrence of U =3 U+1t=1R3-orbits
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Prop M=pH" Fuchsian ends

IK> 1 st NXEREM,

F(x) =[te(R1 <U+tRFMY is K-thick,

i.e, F r>O,

T(x e(S-kr, -r)Utr, kr3) +4

Pf) So- * dChullBi, hullBj)
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dr ↓ps (hull Bi, hull B5)
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-mentblow up lemma

Letgate in G-N(U)

TCREU K-thick subset

limsup TgnU contains q-N(U)-U.
n+ d(8, e)< E
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Since (x) =St t 1R =U1 x4== RFM3

is K-thick,

= UE *T(X) and Usnt U

Sit Utn 8nUsn -> G - NCU)-U.

xGnUsn= 4Utn (H-tn8n Usn)
-RFM

->IG -> I

This is good enough for n = 3

to show P is closed or dense
IH3in I
M

④



In higher dim4, we also need

Avoidance principle

GlU)=[xEREMI sU is
not contained in any

closed orbit of LIG}

·IU) =REM-G(U)

want:If x- fIU), =REM

For this, we need tounderstand

*(x) =Stt(R) U=RFM

xU4S (V) 3,9



Avoidance The (Lee-0.)

M=pWH" Fuchsian ends

E cpt subsets E,CECC
... sit

JIUREM =UE; st
i), I

Fxt GIU1REM, FixI,

I open & E;s.t

-SteIRI XUte RFM-O, Y
is Ko-thick.
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Thankyou
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